Math 1001 Solutions Assignment #7

(a) y=+v2x—1, y=0, x =5; about the y-axis
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(b) y=+v/9—2z, y=0, z =0; about the z-axis
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(c) y=+x, r+y=6, x =0; about the y-axis
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(d) z =4y —y*, y = z; about the z-axis
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(e) x=\/y, =2, y=0; about the line v =4
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(f) z=./y, =4, x=0; about the line y = 6
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(g) y=4—12?, 2z +y=4; about the line z = 4
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y=+/Z, y=3x; about the line y =2 y
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(a) y=+z, y=+4—2x, y=0; about the z-axis
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We use the shell method.
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We use the shell method.
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(c) y=+/z, t+y=6, y=0; about the line y = 3
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We use the shell method.
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(d) y=+x, r+y =2, x =0; about the line y =3
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We use the washer method.
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